
  

 

Pyramids and Cones 

 
1. Determine the surface area of a cone with a radius of 9.3 cm and a slant height of 16.7 

cm. 

    

  

Step 1:  Draw and label a diagram. 
 

The radius is 9.3 cm. 

The slant height is 16.7 cm. 
 

 

 

 

 

 

 

 

 

 

 

 

Step 2:  Choose the appropriate surface area formula. 
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Step3:  Calculate the surface area. 
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The surface area of the cone is approximately 759.6 cm
2
. 

If 3.14 is used for π, the surface area of the cone is approximately 759.3 cm
2
. 

 

    

    
  



   

 
 

 2. Determine the surface area of the pyramid. 

   

 

    

  

Step 1:  Label the diagram. 

 

The base length is 6.2 m. 

The base width is 6.2 m. 

The slant height is 14.4 m. 
 

 

 

 

 

 

 

 

 

 

 

 

Step 2:  Choose the appropriate surface area formula. 
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Step 3:  Calculate the surface area. 

 

SArectangular pyramid = (6.2 m × 6.2 m) + 2( 6.2 m × 14.4 m) 

                           =38.44 m
2
 + 2(89.28  m

2
) 

                           =217 m
2 


